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chemical reactionii

2 Identify the correct onder ©

Dry Ether
2 +Mg

(A) CHyMgBr

(B) CHyBr

(€ cH, Tl

The total number of

(D) CH,
sigma bondy 2
__——Muﬂ‘om.‘

Choose the correct answer from the options g1Ven beley T
« (1) (B). (A). (D}.(C) @8 (AL(C)(B).(D) K, o
@ (B), (A) (O (D) & ©.®.0L® !é i

In the electrolysis of alumg:
lumina to obtain i
(0] Iwwmmnn,me,'—m&’l nmesl, the cryole s add iy 1.
(2) dissolve the alumina in the m 0
remove the impurities of alumi Q
(4)  increase the clectrical condactiviy |

: O

Consider the following statements regarding 0SmOtC[TFSUre *

{A) Molar mass of a protein can be determined usinggysmotic pressure method.

me e

« (B) The osmotic pressure is proportional to the mniu@

+ (€©) Reverse osmosis occurs when a pressure farger than osmotic pressure is applicd
solution side.

(D) Edema occurs due to retention of water in tissue ¢

Tdentify the order of reaction if ts rate constant isk =2 x 102 <1
AT Zero order :
(2) First order
(3) Second order
(4) Half order

<lls as a result of osmosis,

Choose the correct statements with reference to osmolic pressure
- @ A (B) and (C) only
&% (B),(C)and (D) only

(1) (A). (B)and (D) only

¢ 43) (A), (B), (C) and (D)

Pwumlnmhudndwi%’]g L

—_—

4t 50'*3te 400 mm Hg and 800 mm i
(1) Mnfﬂkhhuﬁkw:ﬁhﬁlrwmm

g‘ Vapour pressurcs of pure liquids ‘A’ and D’
binary solution of ‘A’ and ‘D’ boils at S0°C and 71)(Em Hg pressure. The mole

/

solution is

@ |
(1) 33.33 mole percent (Zn 66.67 mole percent

(3) 25775 mole percent ! (4y 75.25 mole percent
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X v (), . 18] The Cu mewl crysallises into fec lattice with a unit el edpe length of 361 3
For a give b m 127pm @ 1% P The e ot e
given concentration of X, the vant 1ol facdd ) 157 P
molecules was 0.3, The correct value of *0* 81 o5 . £ ) el

=
m 2 ("mu " i ime tien foe S0% ‘
Qb T6.) 1f 75% of a fint onder reaction gets compieted in 32 mimuics,
%) = u foe
s compeicn, of

™ ley 3
&
The oxidation number of Co in complex [Co(HNCUZCINT1) 18003 18

this reaction is
(1) 16 minutes O 2) 78 mimues
B s 4 0) 8minuics @ @ 4 mioues

@ A

® 2 @ 5 W‘M=h°“h<'ﬂ“winemmtdawnllb=myﬁdwmummmmu\mu,

: (1) Nay[CuCly] @) Nafcdcl)
The comect structure of dipeptide, Gly-Ala (glycyl alanine) is

3 K[FeCN)g) @ KyFeaN)g
(1) H;N-CH,-CO NH - CH(CHy) (—()U”‘

The spin only magnetic moment of ‘ 10) ion is BM.

(2) HOOC - CH, - NH CO - CH(CHy) NH, ,‘—;E
- ¢ (1) 59 B’E/ﬂ) 1m I
(3) HOOC - CH{CH,) -NH CO—C”.'NH:J’ (3) 490
2 4) 3%1
Q |ty

N—C NH - CH, - cooll ©
(#) H,N - CH(CH,)~CO - NH - Cl i e ‘8"‘ i
13 The toual number ofions produced from the complegICr(NI;)gICly n aqueaus soluion il be pentan-1-ol, n-Butanc, Pentanal, Ethox
T2 @3 ] (1) Ethoxyethane, Pentanal, o-Butane, Peotas-ol
3 4 (O (2) Pentanal, o-Butane, Ethoxycthane, Pentasiifol
14, Amange the following in decreasing order of number of molecules contained in: 243) n-Butang, Pentanal. Ethoxyethane, Pentan-1-0l
p B 165 o (4) n-Butane, Ethoxyethane, Pentanal, Pentan-1-ol
gof0; .
20, In the following reaction, identify the prodect D.

(B) 16gofCO, =
Zn dust CH,O + L A
(C) 16gof CO . AR o SSEph- A0, Y

® 5
(D) 16gofHy Kxﬁ{’_a*']!‘:. 3

v :
given beldw : 3 i
- - (1) o-Nitrobenzoic acid

8‘
A). (B), (C). (D J
) (A).0).€C.O) g (@) p-Nitrobenzoic acid la

Choose the correct order from the options

(2) (D), (C),(A). (B) R 3
« 3 ; i

e (B), (A), (D). (C) ™ / & 1, - "

(4) (C).(B),(D).(A) benzoic

2 e=|@n
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L a8 K will i
NNO, and oo H Sy !

«

o
e o g smounmis
R Wt wall e i ordor of Basie strength of thy R
al will be incroasng o
CallaNMs, (CHONIL (CiHOWN. CHANR
T 3 ISTH

W ENANM, < (CuHWNH < (CIHOEN < ¢ ."‘\
Nl v,.u..w_. S GHNHL < (CHON < (CHONN
) WOHAN < (G LNH < CHNH, < L':E&\“:
0 ‘-t SHONH < (GHON < GHNH, < GUENIL

pownds will give HellsVolhand-Zelinly reaction
< R, C-CHO

) H-CO0OH

. of thal acidic streng
\mag Vg & Toanng © ,
S Y UH.LOX NOLCHLOOO0H. ‘.‘:":‘ OOH
NOLCHLCOOH ©XCICH,CO0H
n AN L X Oy 3 ) )
X CICH,COO0H &+ FCH,CO0H
[ RO N N ~
] YH s FCH,O00H
@) NOLCH.C00 0 CXCHCOOH 2 FCHy
4 HOoO COCH.O008 FCH,COOH \\‘;\H_,( O0H
i SPACE FOR ROUGH WORK d
£

100 w1

N
what b the increasing

16,10 1he Totlowing Cinpounds,

Tenciion

rler of ele renctiviey wrwmae [ ———
i

Wenanlideliyde, peTolmhbehyde, P-Nitrobenaaldetryde, Acstophenons

() Densalbehyde < p Tolualdetiyse < p-N @y benualdehyde « Acetiphenons

@) Acetophenione < Denzalueleye < P TolR ey de < P-Nitrobenzableiryde
() Avetophenone « p-Tolmdehyde

< Dendghichyde « P-Nurobenzalehryde
) Tenzaldehyde <

Actlophenone « PTo@hlekyde < p-Nitrobenzalichyde
The Gatterman Koch feaction s used | |
(nvolved in this reaction is

() co* q

O lcot

indutrial preparstion of benraldetiyde. The electophite

2 1C+ €O, + anbyutrous AICY,
) CO + snhydrous AlCt,

3% Fomaklehyue undergoes Cunnlzzars reaction because

(A) 1t has alpha-bydrogen atom.

() 1t does no have alpba-hydrogen ssom. O

© Iulasr»\mh-,unlfc\nl-lmw F1i00 on beating with concentrated allali

(D) Tt undergo self-oxidation 25d reduction cerhcating with concentrated alkali.

Choose \h:mmmum-nlhqmun below

(1) (D) and (D) only ® @ @ wd(©caly

(3) (B) and (C) caly q ) (A)and (D) only

29,

In the reactian, (CHy),C - O~ CHy + HI —» Produces
cn,ml-:mcu,),tlnhpﬂmﬂmtll,lu(m,),c-ouh-ku-.

(A) mﬂm:ﬂmmumdhmmtno—m,\mhﬂhw
(B) mm:ﬂm:ummmmo\umum—m,\m—nﬂk“
©) mue.:ﬁonklhnsulmxhnim ‘Q

(D) e reaction fllows $y2 mechanism. 9

Choose the cormect answer from the options g below

(1) (B)and (D) only 0 @ @i oy
(&) (A)and (D) onl

("\f\
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M Aniline does ool wmderge Frodel Crats rem oun Deviess
(A) 1t Rorms salt with the Lewss scid cambra, AN
il wuires meysove charge

postive change

() Nitrogen of

(€ Nitrogen of anilios wgpile

(D) Nilrogen scts s 4 stromg destivating group @ the furtber roaction

Chuase the correct answer from it cpoues 1ven Nekow
1D (AN (B amd (D) wniy

@) (AL () amd () omiy

W) (AL AC) amd (D) ey

G (D (€ and (D) enly

2% Albough chiorine s o clocron withdrawing group. yot 8 ortho- -l_mdlmg i ehect

ArOTBUE substiunon Do N e
(A) Chlurine withuraws checrons Brough mdxtive cffect

() Chisnine pres nmm.zmwm:..nﬁam

1) Chlonne sccupin chectrons hrough resonance
(D) Chlunne relesses elecrons rough rosonance.
Choose (e comect anywer from the optsons grven beiow
&M (AN (B and (D) enly
) (AL (D) and (C) enly
'-ih (Al (€) and (D) onl

"2 (D), (C) and (D) only

wtion, he flnal product i

In Frand

) Aromatie akdelyde
) Aromatk chloride

() Aromatic anving

A £

Maseh Lint-8 with Lk
.
F 4
.
Ll
o
(.}
e
8 (D) Sputia

ArMagement of
| potpat i 1 e [1 % e e ot

C\m—hm-'—.*'-"
(1) (A) - (O (B) - (1), (C) - (MR, (D) - 1wy
@ A-0.6)- 00 ©- - 1),
(L)) u\).mm_m‘m_“nn_m
/“Wl-mm-mmn.m_.ﬁ
&

R
O

g
@

d

M. Match Listel with List-I1 -

AQOOSO%O

(4)  Aromatic alcohol

1 : SPACE FOR ROUGH WORK
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List-g List-1f 10
List-]
-1 T e ——
5 : : ,4 — - e ST
) CgHaNH, + N (+C o
i e NaNO, + HX + Cu X. — C ¢
e i U Xz = CeHgX +N,
reactior ! - B T m
an  2rx ®BNa — R-R+2NaX i ~
( wmeyer's reaction " = Ty Yoo T (A)
: (1 F—>» R - F + AgX [
)} Wun caclion r 1 2 T Fa
. (IV)  RX+al — R-1+ NaX
hoos ) 2 F S
—— B (D)
1 (A)
(2) (A) e /\
, \\.:....:..
) (A) 'S y
Q (C)
-2
()—(A) - (D), (B) - (IV), (C) - (1), (D) - (1)) ©>
5 ' | Py L o
a | b
“
Maich List-1 List-11 O
r - e — T =]
List-1 , List-11] g
| &R
{Funerton/Discases)

|
[ Zo.?i..;ﬁ.«n_a.

|
|{(Iny  Xeropht

|Qugtio, &

|
(D) Es
l o |

Choose the correct answer from the options T._f.,w;_mVan? -

Q

(1) (A)- (D), (B)- (1N, (C)- (D, (D)-(IV) o5

(Ill) Beri-Beri

._!z‘... : ..‘f_r_..@?. discase

-

(2) (A)-(ID), (B) - (1IN, (C) - (D). (D) - (IV) O

0

(©)- (V). (D)- (D~ @)

)
{3 (A)- (D), (B)-
(4 (A)- (1D, (B) - (1), (C) - (IV), (D) - (D= &

n Listd with W

LAsidd

IR CLOTRE

soshned T Ldatetl

\]

() \_/\

(1) (A)- (D, (B) - (W), (C) - (), (B) - (TV)
@) (A)-(ID, (B) - M, (C) - (AV), (D) - (TN

4. Which among the following is nof an Analgesic 7

i
Choose the correct answer from the options given befow :

.Am (A) - (1), (B) - (TIT), (C) - (I1), (I} - OV}

(4) (A)- (L), (B) -

(IV), (C) - (1), (D) -~ (15}

SPACE FOR ROUGH WORK

(1) Morphene (2) Heroin
(3) Codeine ~{4) Ranitidine
39.  The increasing order of acidity of the following Sﬂbir based on pKa valoes s

(A) BrCH,COOH CICH,COOH
(€) FCH,COOH HCOOH
Choose the correct answer from the options Eqﬂfp“

{1 (D) <(A)<(B) <(C) (A)< (@) <(C)<(B)
(3) (B)<(A)<(D)<(C) (©) < (B)<(D)<(A)

SPACE FOR ROUGH WORK
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Read the folluwiing puesa D) <(a) : .
S 4o anwwar the nent five «h -
Batiery or csll cunverts o SFomtinas based on i, I v
I\ the chemigal e - tiow ; -
or mabstion of o wlecerical energy 1n fuel coll (2 gabvange
nergy i g | > *hanol, e wre directly
8 fael cull, M, qnd % comvEred 1 electricy
ctricity, where 4
redced at cuthodde sout the rexcions o -“:p-mw....;...__ 3 | mipation ebaly)
san(gcond © ¥
Anende reaction 14 OH —» 230,05+ 3¢
Cathaude resction O, = 250,05 + . o e i e
n ¥ e . o of M i Jower T8 it somic gor S0 :
P B . y sonchiomemr
of Hy at STP rents in: 15 mimunes B mpound 8¢ DO - on cnthalpy
. 4 i cormect ander of second AR € P ¥ o
4 ch of e fllowing B4 € ) VeOr>Mu [
1. The oumber of awiies of ryclroges eyilised i . vn vea<¥ s —
m v=a» - g colous i g SRS
() 01 moles (3) 113 mutes » 38 ng puir of com fuwites e
m ey () 133 moles B o Whh of te bllewing § @ VOO, Cull,
i) ) FeQl, Cully \
42 The aumber of mules of clestrons produced @ the sudsnon of 672 L of I, u STP s ; 1 e YOO, Vet
el o Yoo v

(1) 2 molex (2 4 moles “ () | sl

R~
4L The quantity of eleciricity produced i e evidigon of 672 L of If; u STP

(4) 6 moke

) 98500 ¢ @) $79000 ¢ 2 @ memc ) wuc it
“ ! srent proshicesd v umed r.wn-.o.z-&'——dﬁmn I.'d")

caunt of silver dieposited will ba ™
‘g 1 a4t g o g
SPACE FOR ROUGH WORK

@, Which meal han the highes!

Q

0 Wiy 0 the mtmouds 1 hibit by ghet pamber of -uu:gu

o1 arde

Frergs

s cxidation ware in e fird e wonsition, sors

Fe @t va H ¥

siases han abanonts

als are move iMased than e {1 ortitale( )
&ifferemce between 31 ansd 6 in howe wink] fhwpect o e wnengy Sifmae Dot & =
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emmryy o s fued cell M wud O scuct 4o vt et ary, whams W g 8.

s etiaced at cathuote 06 fhe sectims kvl w

At onctive 14~ 208~ gl 36
-

Cathute senction O + L0 + be” 3 40
72 L of H, st STP semets an 15 s )
<
-
£1  The mumsber of susies of bytoges oxdued
073 rulies @) 333 e

O Tie munier of moies of decuns grtuced e oot of €72 L of By

2 ries 2) 4 sucies 2‘”'."

£ T quommiaty dmwﬁ-k-&dﬂZLJﬁlﬂ
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